Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

IRegistration No.

Name

Test Venue iON Digital Zone iDZ Chitoura Road
Test Time 10:00 AM -11:00 AM

Test Date 11/07/2019

Section : General Intelligence

Q.1 ShifwR, 'TaRa @ I ave Haflda & o9 ‘arge '§ Hafda g1
Ans X1.w|—fﬁ

X 2. T

o 3. e

X 4w

Question ID : 98958016985
Status : Answered
Chosen Option : 4

U 3m fawew # T F1 fawd & 7 wgly (X) dafEfa ¥

&

Ans

X 4

s
) (6% |87 |6

Question ID : 98958017002
Status : Answered
Chosen Option : 2

Q.3 3iUSh ereaerter aufshn & srgaR @ el ot caafea & |

1. Mercury
2. Earth
3. Jupiter




4. Venus
5. Mars

Ans o 1.2,351,4
/X 2.4,2,53,1
/X 31,4235
/X 4.2,3,1,54

Question ID : 98958016981
Status : Answered
Chosen Option: 1

Q4 337 37 3w FT TEA F{ A SEATAET T F AT F FEY T FEY =0T AT &

"=QDO

Question ID : 98958017005
Status : Answered
Chosen Option : 3

Q.5 39 farerey @ =aa e St R reR-grd @ It avg Heford & SR gERT 31aR-gH uget SIaR-gH
F a1

DJ:HT::HM:?

Ans  of 11w
X 2.py
X3P
K 40K

Question ID : 98958016984
Status : Not Answered
Chosen Option : --

Q.6 ol ar srerR-Tgl # @ i sier-wgg v FAffa 9% & g 9 § ofik gk s 81 39
ST JER-THE &l gyl
Ans o 1 Qsuv




75 2. JINP
75 3.DFHJ
/X 4.CEGlI

Question ID : 98958016989
Status : Answered
Chosen Option : 1

Y Frefaaa agfa & fae e #isg £

Ans X110
v 11
X3 9
X413

Question ID : 98958017001
Status : Answered
Chosen Option : 2

Q.8 wF FwreT @ Higw we fea S § W G A & o gty (X, Y 3 Z) & Rgmm wmm §) 5w
famen #1  Rrwsd gafrer man ¥ 5 2w wem @ R @R w 9w dar R

4
Ans
0d
F 0 oA
: ab
Y’ lap
ap
X 3 ao
gd
oo




Question ID : 98958017003
Status : Answered
Chosen Option : 2

Q.9 ufE BARBER @l 116 3fR GLINT aht 73 & ¥U # ehisdg foham 7am &, af LIZARD <t fohg Wk

hisdg farar srem?

Ans X" 190
W 292
K 301
75 4.93

Question ID : 98958016983
Status : Not Answered
Chosen Option : --

Q.10 ek hi€ UTNT H, GOURD ! IQSTF & =4 # forar Sirar &1 APHID it 39 vroT & i forar

SITaT?
Ans  of 1 CRFKF

/X 2. CRFLF

75 3.CRJKF
/5 4. CREKF

Question ID : 98958016982
Status : Answered
Chosen Option : 3

Q.11 31fae ez e wid &1 Tanfar Ik <t & iz sifer Y gg=1 &1 o <t mrar iR @ A

Ans X 1
75 2 amht
/X 3.3
o 4ot

Question ID : 98958016987
Status : Answered
Chosen Option : 4

Q12 rFrHoF Fr e womse RT T T Y T I A A, S & T weE

TS ZETI

9% (<

Ans XL %
X2 Q

X3 s
vin




Question ID : 98958016999
Status : Answered
Chosen Option: 3

Q.13 Fr=afaf@a sjaen & usr Rig (?) & T W) F4 91 HeR-J0H gm?

FJ,HL, ?, LP NR
Ans X" 1 GM

W 20N
X 3.um
X 4N

Question ID : 98958016986
Status : Answered
Chosen Option : 2

Q.14 Fafaf@a sigen § FiF-H e us Rig (7) & wue w® smgfi?
2,4,7,12,19,30,?
Ans x 1.47
W 243
/< 3.38
75 4.36

Question ID : 98958016997
Status : Answered
Chosen Option : 2

Q.15 fAafafaa ar gl & @ i 21 v AfYa adid @ o S € iR Tk e 81 3 31T 2Usg &t
gl
Ans 1 &R
\fz.aam
/X 3.5fu
X a4z

Question ID : 98958016990
Status : Answered
Chosen Option : 2

Q.16 I T=IT T TI & forTH HEATd SHI avg § Haifda g o1 fos fafafaa ageaa fir g
Hafad gl

(16, 36, 64)
Ans o 1.(10,30,58)
/X 2.(12,32, 50)
75 3.(9,25,62)
/5 4. (6,36, 80)

Question ID : 98958016995
Status : Answered
Chosen Option : 3




Q.17 fFafafaa afieo &t @@ a9 & fog 399 54 31 el & siow F g anfgg?
5+8-30%x10+2=240
Ans K71+ R -
X 2. x 8k +
(3.x6ﬁ?—
X 4+

Question ID : 98958016993
Status : Answered
Chosen Option : 3

Q.18 fAm=fafaa ar e & @ = J=ar g [Affa a8 9 v 99 & 3R Uar S1ehT 81 39 el

T Tg_ il
Ans x 1.95
/X 2.85
75 3.65
o 475

Question ID : 98958016998
Status : Answered
Chosen Option : 3

Q19 3ER ve g9 F FFE F ¢ HRX @ AW, & e 7w T & 7 o o F7 9w #:

1§
e

x: )

xS

x4 O

Question ID : 98958017004
Status : Answered
Chosen Option : 1

Q.20 39 2Ae&-gi &l g A &t 2reg I v F Heifda & 9 fon Fafaf@a rsg-gra d & orsg
Hefa €1




e : gaRa
Ans X1 o ORe
/X 2. ar : Rreht

/X 3. g e

o 4 T wfw

Question ID : 98958016988
Status : Answered
Chosen Option : 4

Q.21 I TH=II T TG & forTH HEATd 391 avg @ Hafda g o1 fos fafeafeaa ageaa fir g
Tafda &1

(49, 81, 121)

Ans X" 1.(9,4,8)

/X 2.(16,25,49)
o 3.(36,64,100)
/5 4.(16,64,100)

Question ID : 98958016996
Status : Answered
Chosen Option : 4

Q22 33 zeax sgpfar & o0a Y S A & T TATA FGIT @ F TS TS WA

Problem Fig

2

€

6

A

Ans

Ko

&

IS

3

€

2

(€]

D

Question ID : 98958017000
Status : Answered
Chosen Option : 3

Q.23 15 3NTET 2013 &l TG <Al hiA AT 27 UT?

Ans X" 1 guar

/X 2. H@reEr
W 3 TR




/X 4. FHar

Question ID : 98958016992
Status : Answered
Chosen Option : 2

Q.24 &= U Ry g &, Sud arg i s |, 11 oz 11 g g &1 st @t aea A ge, v @
3T R R T a2l @ are gl, ag fAofa SAfSe &6 = a1/@ s, =t or aifdhes o @
SITERYT el &/ &1

HYU:
Tt gfifaf oi2 €1
Toft geft oi2 &1
qoft 32 W&l
fAreep:
1. oft gffat AR &
Il. 5 AR 32 &
1. Taft geft 2R &
Ans  off 1 st e argeor aRa B
75 2. et Frsene | 3R 11 3R R &
/X 3. Sae i | SERYT gl 21

75 4. et Frsnd 11 3R 111 SrER0T &R &

Question ID : 98958016991
Status : Answered
Chosen Option: 3

Q.25 I HEAT-G™H T TG 2 o194 &t Gy 34t avg @ H6fda & 9 s afof@a den-gm &
2} e <o 21

29, 31
Ans X" 120,21

X 2.15,17
/X 3.23,25
o 411,13

Question ID : 98958016994
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 dexrie & d@eHf #, MAN o1 quf &u o= &2
Ans X 1. A qRar Feadh

J 2. Agiiferes gRar Aeaeh

/X 3. AR gRar Aead

/X 4. mreR o Aeadh

Question ID : 98958016661
Status : Answered
Chosen Option : 4

Q.2 17 i dtepar i fede 7, fore w:ft & wu A ford fges fora mar 82




Ans X 1 ey RiE
o 2. Frfen dhareor
/X 3. sifta s
X 4wl

Question ID : 98958016670
Status : Answered
Chosen Option : 2

Q.3 dhogex M i fazne o, Rawrqeaea 781
Ans X 1. @t

o 2. FRmfR

/X 3. e

/X 4. Shere

Question ID : 98958016662
Status : Not Answered
Chosen Option : --

Q.4 F=fefEa 4 @ et Fred T4 R v g/ 74 T8 8?7
Ans (1431-”%

X 2. s

25 3. yar

X 4

Question ID : 98958016665
Status : Answered
Chosen Option: 2

Q.5 o wu ffafEe & & e @« @ wefda 82
Ans (143,—@1;[

X 2. &

/X 3.4 2

K 4R

Question ID : 98958016674
Status : Answered
Chosen Option : 1

Q.6 TATe afkgisrr epr FRmfor fohe 7<) ur forar man 82
Ans (141%'—1'@

/X 2.9\

75 3. 5w

X 4 R

Question ID : 98958016663
Status : Answered
Chosen Option : 1




Q.7 Prefafem 3§ & s-ar e gient & sngd ferea gt & anfrer 82
Ans X1 gER

X 2. 7ot

W 355

X 457

Question ID : 98958016655
Status : Answered
Chosen Option : 1

Q.8 foReft gor hi Mufiaar o1 st = aTet SgIeHTy T &1 uat oA & forg fafaf@a 3 @
fore =af<h =t thages ‘gt oifth % 2019' & enfae frar war war?

Ans  off 1 S e
75 2. 9 efrerdRgeen
< 3. W g
X 4. aregn gfeen

Question ID : 98958016669
Status : Not Answered
Chosen Option : --

Q.9 fay d Srerary ok Safdfauar smardesre AR A aTeT EERT 320 HH-TT 54 74T &2
Ans X1 o

X 2.4

o 3 smds

/X 4. e

Question ID : 98958016677
Status : Answered
Chosen Option : 2

Q.10 F=fafea & @ sl uffa i ok 7 arht 78 82
Ans xmnzﬂ—,@

o 2 g

/X 3.

X 4. iad

Question ID : 98958016666
Status : Answered
Chosen Option : 4

Q.11 e[ ez dt Geale gHERger (Rien) T geaea _ d R @i
Ans X1 afRg

X 2. fsRe

V 3 wRe

p R




Question ID : 98958016673
Status : Answered
Chosen Option : 3

Q.12 FgST GHTST UTEl & HEATAE R A2

Ans x 1. demor g
X 2. Hefi e
75 3. et
o 2 stz

Question ID : 98958016672
Status : Not Answered
Chosen Option : --

Q.13 S 2019 Ae ke e wRdT & & e adta e A

Ans J1.W
/X 2. arheare
/X 3. 2w g
75 4. darsh

Question ID : 98958016675
Status : Not Answered
Chosen Option : --

Q.14 fafaf@a 7 9 R sorreer & varrsh & &0 7 siite 2019 # R @ g1 mam?

Ans J‘]égﬂﬁ:{ﬂaﬂ:ﬂi
X 2. g
X 3. afer R
75 4w Etg

Question ID : 98958016676
Status : Answered
Chosen Option: 1

Q.15 YR dfy™ & R argede & AqUR, ARy anifes &0 & diwaur & ufd avert

gnf?
Ans X1 3igee 302
X 2. agede 35
o 3. s 75
/X 4. e 29

Question ID : 98958016671
Status : Answered
Chosen Option : 1

Q.16 F=fafEa & 9§ FiF-a1 s e I g6 TU & 919 8@ 981 @d 82

Ans X' 1 Aifgfergn-awe
/X 2. wafar-sgn




f 3. pig-sifeen
/X 4. RaTem-afeTg

Question ID : 98958016654
Status : Answered
Chosen Option: 2

Q.17 30 7 2019 =Y 31isT W2T & ¢ FEaw= & Fu & fohat ray #1?
Ans X" 1. <igarg ATTg
o 2. ot o s

75 3. gaH ahearor

X 4@

Question ID : 98958016678
Status : Answered
Chosen Option: 2

Q.18 =amafd AfSier TR afRfa 18 _____ o1 siemad ot & forg v mmam am
Ans X" 1. wRa & uffe are & vafaroli ge;

/X 2. TRd R AefieRor &1 g

o 3. = afRem aer & amfeeE-onfife Rl

/X 4. TR B TR SRATA ZRI @ S @ HAh

Question ID : 98958016656
Status : Not Answered
Chosen Option : --

Q.19 gEuldaafdar R &l & FRoTglar 21
Ans XLés@mn

of 2. ci¥fem
/X 3. e

X 4. A

Question ID : 98958016660
Status : Answered
Chosen Option : 4

Q.20 Hiwy g Huera Y ¥ g1 i g ot
Ans X1W“Té

o 2

/X 3.ifam

/X 4. udsfa

Question ID : 98958016667
Status : Not Answered
Chosen Option : --

Q.21 fA=fafEa & @ sia-ar urefes fAarT o Iergor g?

Ans




X 1.she

75 2. zeee
o 3 T
/X 4. arma

Question ID : 98958016659
Status : Answered
Chosen Option : 3

Q.22 fFAAfafEa & & H9-a1 1y HefR & Temeif @ fReqd e ar g2
Ans X" 1. T gRa IR

/X 2. e e

75 3. dudw

of 4 ool

Question ID : 98958016668
Status : Answered
Chosen Option : 2

Q.23 WRd # dfdT worret & T |, IFSC o1 g1 $9 R 82
Ans X 1. £Ra thase Reen dheigesH

W 2. iR iR Riwen ave

75 3. <R trgAREe EoRe die

X 4. R wigARe G Fe

Question ID : 98958016657
Status : Answered
Chosen Option: 2

Q.24 fFfafea st ofik 39 Tum=l § § Fi9-91 39« |9yg 82
Ans  off 1 Rrca-aiiy mRar

X 2. TugreITwIEs

/X 3. AREERTE

75 4. Sches-AMIgR

Question ID : 98958016664
Status : Answered
Chosen Option : 1

Q.25 @E 2019 # 130 st & ugell TR Rretam &t iR @ ufknfa fomar war o s @ ugpfa & wa

TAYA U1 & ¥ & gadRuiNa frar sremm, 52 aran gt srar 82
Ans X" 1 TRyl fRRTH
75 2. frega R
o 3. i @ fRRiE
/< 4 e R

Question ID : 98958016658
Status : Answered




l Chosen Option : 1 J

Section : Quantitative Aptitude

Q.1 ssrw w9 & 2w, fdr wftaw # v vude R geeR oy X e @ ¥ ol 5w e, g F
fordr fig oX awr 399 TREREE 300 & &7 W TS @9 30 SedE W W €| FT F oA §
fr ag 720 & ®or 1 e # Fa w1 S RN g T v AW F e 1 39S
T 30% AW FaT Rar T ST F gem?

Ans X1,
Ig e 9 W FT H Ty | [ == 2
X248
X312
vi24

Question ID : 98958017395
Status : Answered
Chosen Option : 3

92 osec?30° + sin?45° + sec?60° + tan®30° T AT =T 2

Ans XL 8
53

2. —

J 6

25

K3 =

3

x4 9

Question ID : 98958017400
Status : Answered
Chosen Option : 2

Q.3 foelr 357 F1 HfFa Tw 2000 ¥1 3 & FAPE g F A1E 648 F ¥ fewr mm wwE g 20% o
g@d g &1 gferid &7 4@

Ans X115
X2125
v':10
X 45

Question ID : 98958017385
Status : Answered
Chosen Option : 3

Q.4




i Fom-o7 F1 qUmE 300 ¥ AEaa % A9 ge - HElaw-ade(X), seeiNe-iem(Y) Hiy
T FaZ) FaR A 6 4t T s e FRT X, YAr Z A sm e =
FHA: 40%, 50% 3T 50% 3F TFUT FA Teaw 60% g AT BT v I wmw (W wE) H W
faemféat A, B, C 3T D ST gredist T g T

80 80
70 70 70
60 60
50 50 50
ux
uy
30 30

nzZ

A B C D

Students

100

80

60

Marks

5

0

faeanfiat B, C 3k D &1 3% ZaRT Wi fahT AT M F AR W ARET 77 # saitug S
Ans X1' B, C, D

v2B, D, C
xX3C, DB
x4+D B, C

Question ID : 98958017404
Status : Answered
Chosen Option : 1

Q.5 zw 3@ & FEAT 2x600000y8, FEAT 24 ¥ T Fsr=w F| WX X 20 AW y 0, A (x+y) F

Question ID : 98958017390
Status : Answered
Chosen Option: 3

Q.6 A=z Egy HEan 2200 3 2300 F wHE AR 3w 5% M 10% F AT WA ) s@e
FoT T e T Ar?

Ans  X'1. 9
V28
<35
<48

Question ID : 98958017387
Status : Answered
Chosen Option: 2

Q.7 AB 3t CD, & grw & & SfaTY § S gea ¥ 3% R g O W uH-gEt A Fedr #1 Rar g
féF AB = 10 em, CO = 1.5 cm 3R DO = 125 cm §1 AQ X BO # ¥ 73 3K ©R & 3mged &1
LG




Ans X 1.3:2
v23:1
X37:3
X441

Question ID : 98958017396
Status : Answered
Chosen Option : 3

Q.8 AABC~ADEF iy Soehr afYfAfy FA9r 64 cm AT 48 cm ¥ IE DE 9 cm ¥ TwET &, OF AB F e
Fm g7

Ans X 1175 cm
v 212 cm
<316 cm
< 418 cm

Question ID : 98958017398
Status : Answered
Chosen Option : 1

Q0 gfr Bx+1P+x—3P3+(@ -2 +6Bx+1Dx-3)(x—2)= o0,

garx sUET E
Ans x1_ 1

X2 =

}(3.—%

v -1

Question ID : 98958017394
Status : Answered
Chosen Option : 4

10 7 2(1-243x10%)=1417+x & & x WK ¥ :

Ans X 1.0.0417
X 2 0.81
X3 0417
v 4 0.0081

Question ID : 98958017393
Status : Answered
Chosen Option : 4

Q11 1 3 =2 Bt T & Tet A, 57 TEw AT SEE ek W HOR, $9 W 3N SUE oA &
TraTwer ®T 25% g1 SH EEAT HT U UId, 6% I97 ¥ fhae giaea afew 7

Ans




X 1578
v 2 66.7
X 3 645
X 4625

Question ID : 98958017386
Status : Not Answered
Chosen Option : --

Q.12 Far LRI g #F O, G, | 3T H FHer: 9 (circumcentre), HREHT (centroid), JaT&E (incentre)
3 e (orthocentre) &1 373 & Pia-# g vwaw= §7

e X1 FEer 0, G ¥k H
v20, G |3RH
X3 Fae O 3T |
X4 Faa O AT G

Question ID : 98958017397
Status : Answered
Chosen Option : 1

Q.13 A el F #1 20 @A # qU T GFar § 3R B 37 FH F 20% F 6 e 0¥ = FFar §1 oY
TE WY AT FH T & ar 50% FH I fRae fedt F W e wea &7

as 1B
<28
<39
X412

Question ID : 98958017381
Status : Not Answered
Chosen Option : --

Q.14 Tl wem-u9 &7 qUisr 300 §| Hedieha & oI Oe - Heifas-ademX), smagies-miem(Y) 37
TS FHZ) SR A R 6 54 T s Fe S RTX, YR Z A mm e wm
FHA: 40%, 50% 3T 50% 3F TFUT FoA Teaiw 60% g ATl T 7w & wmw (I WH) H W
ezt A, B, C 3R D ZamT WIoaish FI ST T #

70 70 70
80 60

8

30

Marks
] ]
.
&
"= mon
N X

0

Heifas ofem # I et & diwg 3% F=r 2
ans X168




2 2 60
V'3 65
X470

Question ID : 98958017402
Status : Not Answered
Chosen Option : --

Q.15 faaf et &7 400 m & TorEwET S FHT g & 9F g &, @l 1.2 km @A HE I @A @
72 km/h & oY F I W 200 m F fR &7 H 9@+ amfEe Rig il wewia o en &
# & g # 97 F A e BAEG e

At 115 e
X216 e
X312 faee
<418 fAee

Question ID : 98958017382
Status : Not Answered
Chosen Option : --

Q.16 =1 AfFag TfRr @R sare 97 B3y f 7 o) 9fT 99 F 3w wog @ arer P, d v F
Wﬁﬁﬁﬁmﬂli T Tl F Ao g o

Ans X 1. 25%
X2 10%
X 3 15%
v 4 20%

Question ID : 98958017389
Status : Not Answered
Chosen Option : --

Q.17 0o 3w 90° & & wskr
o5 (i =1,23,..20) * fw, REm mam § &F sin o, + sin e, + sin o + L+ sineg,=20 &

(06 40640+ + 00 ) T AT (R H) T B2

Ans X 1. 20
v 21800
<3900
X140

Question ID : 98958017399
Status : Answered
Chosen Option: 1

Q18 1088 srafae wEwst F1 T T ¥ 39H F 3EAH o AHERcAS & THar 87
Ans X 1. 544




' 2 1087
<3100
X 4 88

Question ID : 98958017384
Status : Answered
Chosen Option : 4

WP fh W & T, T 30 O F YA F I e ¥
AT T &7
Ans 7
XT;
2
2. —
x 7
3
3. =
J 7
5
X“-;

Question ID : 98958017388
Status : Answered
Chosen Option : 3

Q.20 faralr wem-u9 &1 qUe 300 §| Hedieha & o OeH - Heifas-ademX), smagRe-miem(Y) 7
AFA-FH(Z) F IR F AT 6: 5 4 F| e scdvT RS F BT X, YRz F wm T 50
FHA: 40%, 50% 3T 50% 3% FUT Tl Gealw 60% g WRT| BT 7w & M@ (FW WAE) H TN
freznfiiEt A, B, C 3% D Zamr wiedie @ gefar mm §

100

80 80
80
70 70 70
60 60
60
50 50 50
mx
40 mY
30 30
nz
20
]
A B c D

Rzt 3 & St 3ehet 7l @ wEE

e X Fae A
X2B3kC
X< 3 Fao B
v:iB 3R D

Marks

Question ID : 98958017405
Status : Not Answered
Chosen Option : --

Q.21 {13 of (2§+1§)_1i}+§+2§+§+§ Exl m HTeT %Z

Ans




@
NI S R - R T RV T R R %

Question ID : 98958017391
Status : Answered
Chosen Option : 2

2 0°<9<90° F w0, = ¥ FEH

v3cos0 + sing =17
Ans X1 45

<2 30°

V2 900

x40

Question ID : 98958017401
Status : Answered
Chosen Option : 2

Q.23 et gear-9 1 qUls 300 ¥| FedRe & oiel Hewh! - GEiTa-TUE(X), SaEERn-aEY) 3
TS FHZ) SR A R 6 54 T s Fe S RTX, YR Z A mm e wm
FHA: 40%, 50% 3T 50% 37F TuT Tl Heais 60% g vl T v &7 M (FW AwE) H W
ezt A, B, C 3R D ZamT WIeaieh FI ST T #

100

B8O 80
80
70 70 70
60 &0
60
50 50 50
[ 33
40 .Y
30 30
L4
20
o
A B < D

Students

Marks

SATERIH-T08T § C & B ¥ foraer wiged 31f9= 31 groa fo?
Ans (1. 30

< 2 40
< 3 60
<420

Question ID : 98958017403
Status : Not Answered
Chosen Option : --

Q.24




18431843 -6.57%6.37
11.86

As  of 1 D5
X2 26
<3 2412
< 4 23.62

FASGE

Question ID : 98958017392
Status : Answered
Chosen Option: 1

Q25 forafr woEgss & o oot w14 om 3R 48 cm ¥ FEEgHS & AT W/ ¢

Ans 1. 80 cm
#< 2 160 cm
/< 3120 cm
v 4100 cm

Question ID : 98958017383
Status : Answered
Chosen Option : 4

Section : English Language

Q.1 Select the wrongly spelt word.
Ans X" 1 fifteenth

( 2. fourtieth

x 3. seventeenth
x 4. fourteenth

Question ID : 98958016321
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate word to fill in the blank.

Once again, higher food inflation, in combination with fuel and power, provided to the

wholesale inflation.
Ans J 1. impetus

x 2. inspiration
X 3. impression

x 4. insight

Question ID : 98958016323
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate antonym of the given word.

ABSTRACT
Ans X" 1 vague




x 2. intangible
X 3. elusive
“ 4. concrete

Question ID : 98958016314
Status : Answered
Chosen Option : 4

Q.4 Select the correctly spelt word.
Ans X" 1 managable

x 2. manageble
x 3. manegeable

J 4. manageable

Question ID : 98958016320
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate antonym of the given word.

HOPE
Ans x 1. confidence

J 2. despair
x 3. courage
x 4. daring

Question ID : 98958016315
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate synonym of the given word.

DEDICATION
Ans X" 1. trepidation

X 2. contentment
“ 3. commitment

X 4. determination

Question ID : 98958016313
Status : Answered
Chosen Option: 3

Q.7 Identify the segment in the sentence which contains the grammatical error.

The team began searching for reasons for their poor performance in the tournament.
Ans X 1. in the tournament

x 2. searching for reasons
x 3. The team began

“ 4. for their poor performance




Question ID : 98958016298
Status : Answered
Chosen Option: 2

Q.8
Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.
The minister promise to looked into the matter of fuel emissions and air pollution.

Ans J 1. promised to look into

x 2. promises to looking at
X 3. No improvement

x 4. promise to looks into

Question ID : 98958016302
Status : Answered
Chosen Option : 1

Q.9 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Using matches however came much later.

B. The first great discovery that man probably made was that of fire.

C. In olden times fires were made by rubbing two flints against each other till a spark was
produced.

D. And this spark set fire to dry straw, leaves or wood.

Ans X" 1 ADBC
75 2.CBDA

o 3.8CDA
/5 4.BDAC

Question ID : 98958016311
Status : Answered
Chosen Option : 3

Q.10 Identify the segment in the sentence which contains the grammatical error.

She was unable to produce sufficient evidences for support her accusations.

Ans X 1. support her accusations
x 2. to produce
X 3. She was unable

J 4. sufficient evidences for

Question ID : 98958016299
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate word for the given group of words

A person who sells and arranges cut flowers
Ans X" 1. nutritionist

X 2. botanist

x 3. agriculturist

J 4. florist




Question ID : 98958016318
Status : Answered
Chosen Option : 4

Q.12 Select the correct passive form of the given sentence.

Someone gave him a new case for his credit cards.

Ans J 1. He was given a new case for his credit cards.
x 2. He had given a new case for his credit cards.
x 3. He has given a new case for his credit cards.

x 4. He is given a new case for his credit cards.

Question ID : 98958016300
Status : Answered
Chosen Option: 2

Q.13 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. We had already covered half the distance when we reached a three-road junction.
B. | was worried it might pounce on us.

C. But thankfully we picked up speed and it got left behind.

D. Suddenly, a barking dog began to chase the bike for some distance.

Ans " 1 DACB

/< 2.BDAC
75 3.ABDC
o 2. ADBC

Question ID : 98958016310
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate synonym of the given word.

ACCURATE
Ans J 1. precise

x 2. sincere
x 3. genuine
x 4. real

Question ID : 98958016312
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate word for the given group of words

One who draws or produces maps
Ans x 1. designer

x 2. photographer
J 3. cartographer
x 4. draftsman




Question ID : 98958016319
Status : Answered
Chosen Option: 3

Q.16 Select the most appropriate word to fill in the blank.

As he crossed the desert he nearly
for four days and five nights.

Ans X" 1 survived

x 2. subsisted

to thirst when he was forced to go without water

J 3. succumbed
x 4. submerged

Question ID : 98958016322
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate meaning of the given idiom

make no headway

Ans x 1. forced to fix a new goal
X 2. check if the head can pass through
X 3. unable to overtake anyone

J 4. unable to progress ahead

Question ID : 98958016316
Status : Not Answered
Chosen Option : --

Q.18 Select the correct indirect form of the given sentence.

The interviewer asked Ramesh, "Do you have any idea about our products?"

Ans x 1. The interviewer asked Ramesh that if he had any idea about the products.
J 2. The interviewer asked Ramesh if he had any idea about their products.
x 3. The interviewer asked Ramesh if he have any idea about their products.

x 4. The interviewer asked Ramesh if they had any idea about his products.

Question ID : 98958016301
Status : Answered
Chosen Option : 2

Q.19
Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

My professor gave me a lot of useful advices when | was writing my research paper.

Ans x 1. gave me a lots of useful advices
x 2. give me lots of useful advices
x 3. No improvement

J 4. gave me a lot of useful advice

Question ID : 98958016303
Status : Answered




l Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

If winter seems to be the season for migratory birds to flock to warmer climates, summer
time is ideal for wetland birds. (1) fifty kilometers from Warangal in Telangana, Pakhal
lake (2) to be playing host to (3) wide variety of flora and fauna (4)

season. Wetland birds from North and Central India come (5) the south in search of
larger water bodies.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank No.1.

Ans  of 1 Nearly
X 2.But
75 3. Totally
X 4.Not

Question ID : 98958016305
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

If winter seems to be the season for migratory birds to flock to warmer climates, summer
time is ideal for wetland birds. (1) fifty kilometers from Warangal in Telangana, Pakhal
lake (2) to be playing host to (3) wide variety of flora and fauna (4)

season. Wetland birds from North and Central India come (5) the south in search of
larger water bodies.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.2.

Ans X" 1. will seems
X 2. was seemed

( 3. seems
X 4. seem

Question ID : 98958016306
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

If winter seems to be the season for migratory birds to flock to warmer climates, summer
time is ideal for wetland birds. (1) fifty kilometers from Warangal in Telangana, Pakhal
lake (2) to be playing host to (3) wide variety of flora and fauna (4)
season. Wetland birds from North and Central India come (5) the south in search of
larger water bodies.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank No.3.

Ans (1.a
X 2.0ne
x 3.an




X 4. the

Question ID : 98958016307
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

If winter seems to be the season for migratory birds to flock to warmer climates, summer
time is ideal for wetland birds. (1) fifty kilometers from Warangal in Telangana, Pakhal
lake (2) to be playing host to (3) _____ wide variety of flora and fauna (4) _____
season. Wetland birds from North and Central India come (5) the south in search of
larger water bodies.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank No.4.

Ans X 1 that
W 2 this
/X 3. their
X 4. these

Question ID : 98958016308
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

If winter seems to be the season for migratory birds to flock to warmer climates, summer
time is ideal for wetland birds. (1) fifty kilometers from Warangal in Telangana, Pakhal
lake (2) to be playing host to (3) wide variety of flora and fauna (4)
season. Wetland birds from North and Central India come (5) the south in search of
larger water bodies.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank No.5.

Ans x 1. about

X 2. away
x 3. below
(4. towards

Question ID : 98958016309
Status : Answered
Chosen Option: 2

Q.25 Select the most appropriate meaning of the given idiom

make short work of something

Ans X 1. shorten some dress
« 2. dispose of quickly
X 3. reduce the size
x 4. edit carefully

[ Question ID : 98958016317




Status : Answered
Chosen Option : 4




